


In the following, graph ARST with vertices R(2,3), S(-2,1) and T(-1,5) and its image after the composition. (Do
each one of these on a separate coordinated plane.)

7) Translation: (x,y)—>(x-2,y-1) 8) Reflection: Across the line y=x
Rotation: 90° counter-clockwise about the origin Rotation: 180° about the origin
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9) Translation: (x,y) —>(x+3,y) 10) Translation: (x,y)—>(x+4,y+2)
Reflection: Across the line x =0 Rotation: 270° clockwise about the origin
PP I AE N S X A O O N
- E o 1
1 ~ . L
T NN -
—t .
4 : 'x P l H : 'x
= »- 3 -5- P-
54 5.
7 1

11) In your own words, what is a composition of transformations?
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12) What is a glide reflection?






